

- (#1) (a)
 (1) No, the system depends on future
 (2) Yes, does depend on past

(b)

$$(1) x_i(t) = x(t - t_0)$$

$$y_i(t) = \sin(3t) x_i(t) \\ = \sin(3t) x(t - t_0)$$

$$y(t - t_0) = \sin(3(t - t_0)) x(t - t_0)$$

$$y_i(t) \neq y(t - t_0) \quad \underline{TV.}$$

$$(2) \text{ if } u(t) = 0 \Rightarrow y(t) = t \quad \text{For } t \in (-\infty, \infty)$$

$$\text{if } u(t-v) = 0 \Rightarrow y(t-v) = t \\ \text{thus } \underline{TV.}$$

$$(c) (1) x_1(t), y_1(t) = x_1^2(t-1) ; x_2(t), y_2(t) = x_2^2(t-1)$$

$$x_3 = \alpha x_1(t) + \beta x_2(t)$$

$$y_3(t) = x_3^2(t-1)$$

$$= (\alpha x_1(t-1) + \beta x_2(t-1))^2$$

$$= \alpha^2 x_1^2(t-1) + \beta^2 x_2^2(t-1) + 2\alpha\beta x_1(t-1)x_2(t-1)$$

$$\neq \alpha y_1(t) + \beta y_2(t)$$

Not linear

If $t \in (1, 4)$ $y(t) = \int_{t-1}^3 e^{2(t-z)} dz - \int_3^6 e^{2(t-z)} dz$

$t \in (4, 7)$ $y(t) = \int_{t-1}^6 e^{-(t-z)} dz$

$t \in (7, \infty)$ $y(t) = 0$

(c) $x(t) = u(t)$ $h(t) = \delta(t-3)$

$y(t) = u(t-3)$

or $y(t) = 1 \quad t=3$

(#4) I $y(t) = \delta(t-2) + \delta(2-t)$

(a) Not Memoryless; $y(t)$ depends on $\delta(t-2)$ and $\delta(2-t)$, depends on future and past.

(b) define $u_1(t) = u(t-2)$

$y_1(t) = u_1(t-2) + u_1(-t-2)$

$y_1(t) = u(t-2-2) + u(-t-2-2)$

$y(t-2) = u(t-2-2) + u(2-t+2) \neq y_1(t)$

thus not time-invariance.

(c)

define $\delta_1(t)$ s.t $y_1(t) = \delta_1(t-2) + \delta_1(t+2)$

$y_2(t) = \delta_2(t-2) + \delta_2(t+2)$

(15) (a) $S[n] = \sum_{k=-\infty}^{\infty} h[k]$

(b) $h[n] = S[n] - S[n-1]$

(c) $h(t) = \frac{d(s(s))}{dt} = (-3e^{-3t} + 4e^{-2t})u(t)$

(d) $y_p(t) = ke^{(-1+2j)t}$

$(-1+2j)k e^{(-1+2j)t} + 4k e^{(-1+2j)t} = e^{(-1+2j)t}$

$(-1+2j)k + 4k = 1$

$(-k+2jk) + 4k = 1$

$3k + 2jk = 1$

$k(3+2j) = 1$

$k = \frac{1}{2j+3}$

$y_p(t) = \left(\frac{1}{2j+3}\right) e^{(-1+2j)t}$

$y_h(t) = Ae^{st}$

$Ase^{st} + 4Ae^{st} = 0 \Rightarrow Ae^{st}(s+4) = 0 \quad s = -4$

$y(t) = Ae^{-4t} + \left(\frac{1}{2j+3}\right) e^{(-1+2j)t}$

$Ae^{-4(0)} + \left(\frac{1}{3+2j}\right) e^{(-1+2j)(0)} = 1$

$A + \frac{1}{3+2j} = 1$

$A = \frac{2+2j-1}{3+2j} = \frac{1+2j}{3+2j}$

$y(t) = \left(\frac{1+2j}{3+2j}\right) \left[e^{-4t} + \frac{e^{(-1+2j)t}}{2+2j} \right] u(t)$

y_h

y_p

Important
 (+70)
 Need to show t > 0